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QUESTION 1

Which of the following technologies would a technician use to securely connect to a remote network? 

A. SFTP 

B. RDC 

C. VPN 

D. SSH 

Correct Answer: C 

 

QUESTION 2

Which of the following should a technician take into consideration when trying to achieve the MAXIMUM coverage when
installing wireless access points? 

A. Encryption 

B. Placement 

C. SSID broadcast 

D. Cost 

Correct Answer: B 

 

QUESTION 3

If an EKG monitor goes down, which of the following departments should the technician notify? 

A. OB 

B. CDS 

C. ENT 

D. PEDS 

Correct Answer: B 

 

QUESTION 4

Which of the following are examples of medical organizations? (Select TWO). 

A. Assisted Living Facility 
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B. Hospice 

C. Community Center 

D. Fitness Center 

E. Retirement Facility 

F. Group Home 

Correct Answer: AB 

 

QUESTION 5

A wireless end user is experiencing intermittent loss of connectivity to the terminal server. 

Which of the following are the MOST likely causes? (Select TWO). 

A. Terminal server drive defragmentation is taking place 

B. Radio interference 

C. EMR/EHR database maintenance 

D. Short duration of idle time allowed for global access 

E. Poor terminal server connection policy 

F. Overloaded WAP 

Correct Answer: BF 
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